AOTIZTIKH OAYMIIAAA 2007
ENINEAO |

1. H KaBapn Mepilouoia (KepaAaio) gival éva atmd Ta oTolXEia TToU oUVvBETOUV TN
MAoyioTik ESicowon Tou looAoyiopou. lMoia atrd TIg o KATW £ICWOEIS Eival N
owoTH;

A. EvepynTtiko = Kepdahaio - MabnTikod
B. MadnTiké = EvepynTikd + Kegpdahaio

r. KepdAhaio = (Mayio Evepyntikd + Kukhogopiakd EvepynTiko) —
(MakpotrpdBeapo Mabntiké + BpaxutrpdBeouo MabnTiko).

A. Kepahaio = Evepynmikd + lMNaBnrikd

1. Which of the following Accounting equations is the correct?
A. Assets = Capital - Liabilities
B. Liabilities = Assets + Capital
C. Capital = (Fixed Assets + Current Assets) — (Long Term Liabilities + Short
Term Liabilities)
D. Capital = Assets + Liabilities

2. [olog amrd Toug TTIo KATW Aoyaplaopoug dev avikel oto MNayio EvepynTiko;

A. Kripia

B. Eutropedpara
r. ‘EmimAa

A. Mnxavrjpata

2. Which one of the following accounts is not belonging to Fixed Assets?
A. Building
B Stock
C. Furniture
D Machinery



. Na ™ ouvaAAayrn, [MwAnon Epmropgupdrwyv pe mricTwon, moia amd Tig Trio
KATW AOYIOTIKEG eYYPOPEG Ba yivel;

A. Xpewvetal o Aoyapiaopdg MNwAnoeig kai Motwveral o Aoyapiacpog XpeWOTEG.
B XpewveTal 0 Aoyapiaocudg NwAnoeig kai Motwvetal o Aoyapiacuog MioTwrEG.
r. XpewveTal 0 Aoyapiacudg XpewaoTeg Kai MoTtwvetal o Aoyapiacudg NwAnoeig.
A XpewveTal 0 Aoyapiacudg MoTwTtég kai MaoTtwvetal o Aoyaplaopog NMwARoEIg.

Which one of the following double — entries is the correct way to record the
transaction: Goods sold on credit.

Account to Debit Account to Credit
A. Sales Debtors
B. Sales Creditors
C. Debtors Sales
D. Creditors Sales

O Aoyaplaocpog Metpntd oto Tapegio o€ TTo10 KATNYOPiIO AOYapIOCHWY OVAKEI;

2T0UG [NpoowTTKoUg Aoyapliaououg.

210UG Aoyaplaopoug E¢6dwv — EcOdwV 1] ATToTEAEOUATIKOUG.
2T10UG lNpayparikoug Aoyaplaopoug | Aoyapiacuoug Agiag.
2.€ KOMIA aTTO TIG TTIO TTAVW KATNYOPIEG.

which general category of accounts does the cash in Hand account belong

Personal accounts
Nominal accounts

Real accounts

OO0 ®Wrgg P I® P

None of the above

. O1 Aoyaplaopoi Tou EvepynTikoUu ekTd6g amd 1o Aoyaplaocpd Tpdarmreda £xouv
TAVTOTE:

A. XPEeWOTIKO UTTOAOITTO TTOU augdveTal OTav XpewveTal 0 Aoyapiaoudg Kal
MEIWVETal 6Tav MoTwvETAl 0 AoyapIaouod.

B. MoTwTtiKG UTTOAOITTO TTOU AUEAvETal OTAV XPEWVETAI O AOYAPIOTUOG Kal
MEIWVETAI OTav [IoTWVETAI O AOYyOpIaCoHOG.

r. XPpewaTIKO UTTOAOITTO TTOU augavetal otav MioTwveTal o Aoyapiaocudg Kai
MEIWVETAI OTAV XPEWVETAI O AOYOPIACHOC.

A. MoTwTIKG UTTOAOITTO TTOU PEIWVETAI OTAV XPEWVETAI O Aoyapiaoudg Kal
augavetal otav MNioTwvetal o Aoyapiaouoc.



5. Asset accounts with the exception of the Bank account, always they have:

A

Debit balance, which increases when the account is Debited and decreases
when account is Credited

Credit balance, which increases when account is Debited and decreases when
account is Credited

Debit balance, which increases when account is Credited and decreases when
account is Debited

Credit balance, which decreases when account is Debited and increases when
account is Credited

6. Moo amwd Ta Bondnrtika BifAia Tou akoAouBouUv éxel SITTAR 1816TNTA; AnAadn
(a) TRV 18316TNTA TOU BOoNBNnTIKOU BIAiou kai (B) Tnv 1816TNTa TOU KatBoAIKOU.

B 0w >

HuepoAdyio diapdpwv Mpdéewv
BiBAio EmoTpo@wyv Ayopwv
BiBAio MNMwAAocewv

BiBAio Tapeiou

6. Which one of the following Subsidiary Books has two purposes (a) a
Subsidiary book and (b) a Ledger book.

OO0 w>

General Journal

Purchases Return Day Book
Sales Day Book

Cash Book

7. Mépog Twv Eptropeupdtwyv tou TrapoAdfape dUO MEPES TTPONYOUHEVWG,
TAPAARPONKAV O€ KOKI KATACTAOCT KAl TA ETTICTPEYAUE OTOV TTPOUNOEUTH HOG.
Molo1 Aoyapilacpoi Ba ernpeacTouv amwd Tn ocuvaAlayrn Tng £mMICTPOPAS TWV

EMTTOPEVHATWYV;
A Xpéwon: Aoy/opég Ayopég kai Miotwon: Aoy/opog MioTwrég.
B. Xpéwon: Aoy/opég MoTtwtég kai Miotwon: Aoy/ouog EmoTtpo@éc Ayopwv
r Xpéwon: Aoy/opog EmoTtpo@éc Ayopwy Kai MNiotwon: Aoy/opog MoTwTég.
A Xpéwon: Aoy/ouég EmoTpopég Ayopwv Kai MNioTwon: Aoy/oudg XpewoTeg.



7. Part of goods purchased two days ago, were received in bad condition and
returned to the Supplier. Which one of the following double — entries is the
correct way to record this transaction?

Account to Debit Account to Credit
A Purchases Creditors
B Creditors Purchases Return
C. Purchases Return Creditors
D Purchases Return Debtors

8. O emixeipnuartiag A. Avdpéou TwAnoe pe Tiotwon oto . lewpyiou
Eptropetpata agiag £1.000 (TipA TipokataAdyou) pe Eptropiki ‘Ekmrrwon 20%. O
. Fewpyiou TARpwoe TrpokartafoAn £300 kai yia TO utéAoito Ba Tou
mapaxwpnBei Tapiokn ‘EkrTwon 5%, av n eé§6¢pAnon yivel evrog 14 nuepwv. H
e€O0pAnon €yive 30 pépeg perd. Timood Apwoe o I'. Newpyiou;

A. £800
B. £475
r. £ 500
A. £700

8. G. Georgiou a sole trader purchased goods on credit from A. Andreou at a
price £1.000 (catalogue price) less Trade Discount 20%. He paid a deposit of
£300 and for the balance due, he is entitled to a further 5% Cash Discount if he
pays within 14 days. The settlement was made 30 days later. What was the
amount paid by G. Georgiou.

A. £800
B. £475
C. £500
D £700

9. O emixeipnuariag A. Avdpéou ayopaoce AuTokivnTo pETAPOPAS Eptropeupdrwy
Kal To TTARpwoe amd Tov [MPpoowTTIKO TOU AOYOpPIOOHMO. TN OUVEXEID TO
peTaBiBace oTnv emixeipnon umoé pop@n KepaAaiou. Moia amrd Tig TMIO0 KATW
eyypagég deixvel Tn petaBifaon;

A. Xpéwon: Aoy/ouég Autokivnta kai liotwon: Aoy/ouog Tpatrela.
B Xpéwon: Aoy/opég TpatreCa kai Miotwon: Aoy/ouog KepdAaio.

r. Xpéwon: Aoy/opog Autokivnta kai MNiotwon: Aoy/opog MoTwTég.
A Xpéwon: Aoy/ouédg Autokivnta kai liotwon: Aoy/ouog KepdAaio.



9. A. Andreou a sole trader purchased a Motor Car and paid from his personal
Bank account. Then he transferred it to the business as additional Capital.
Which one of the following double-entries is the correct way to show the
transfer?

Account to Debit Account to Credit
A. Motor Car Bank
B. Bank Capital
C. Motor Car Creditors
D. Motor Car Capital

10. ATé Ta TIO0 KATW OTOIXEIO VA UTTOOEISETE TO TTOOO TTOU AVTITTPOOWTTEUEI TO
MikT16 Képdog Tng Emixeipnong yia 1o é1og Trou €Anée oTig 31. 12. 2006.

£

Apx1k6 Aré0spa Eptropeupdrwy 1.1. 2006 3.000
Ayopég EptropeupdTwy Katd Tn S1GpKEIN TOU £TOUG 81.000
EmioTpo@ég Ayopwv Eptropeupdrwy 1.000
NMwARoceig Eptropeupdrwy Kard tn didpkeia Tou étoug  130.000
TeAiké Aré0Bspa Eptropeupdrwy 31. 12. 2006 5.000

A. £52.000

B. £42.000

I £48.000

A. £50.000

10.The following information concerns a retailing firm for the year ended
31.12.2006

£
Opening Stock of Goods 1 January 2006 3.000
Purchases of Goods during the year 81.000
Purchases Return during the year 1.000
Sales of Goods during the year 130.000
Closing Stock of Goods 31 . 12. 2006 5.000

The firm’s Gross Profit for the year ended 31. 12. 2006 was:

A. £52.000
B. £42.000
C. £48.000
D. £50.000



11. Katd 1n S1dpKeIa TOU OIKOVOMIKOU éToug Trou €Ange tnv 31 AekeuBpiou 2006 To
KaBapd Képdog tng emixeipnong Arav £18.000 ka1 o1 ATopikég ATTOARYEIG TOU
emixeipnuaria £4.000. Av 1o KepdAaio Tnv 1 lavouapiou 2006 Arav £80.000.
Moio Atav 1o TeAikdé KepaAaio Tng emrixeipnong tnv 31 Aekepppiou 2006.

A. £66.000
B. £94.000
r. £98.000
A £84.000

11. During the Financial year ended 31 December 2006, the Net Profit of the firm
was £18.000 and the Drawings of the Proprietor £4.000. If Capital account
balance 1. 1. 2006 was £80.000, which one of the following amounts represents
the Final Capital balance 31.12.2006?

A. £66.000
B £94.000
C. £98.000
D £84.000

12. To daBpoiopa T™NG oTAANG EKmrTwoelig Aaufavoueveg tmou BpiokeTal oTnv
ALUpd TwV TTANPWHWYV Tou TpioTnAou BiBAiou Tapgiou peTtagpépeTal:
A. 21N MioTwon Tou Aoyaplaopou EKTTwoelg AauBavOopeveg
B 21N Xp€waon Tou AOYyapIaopoU XpEWOTES
r. 21N Xp€waon Tou Aoyaplaopou EkTrtwoelg Aaupavopeveg
A 21N Xp€waon Tou Aoyaplaopou EKTITwoElg XopnyoUNEVES

12. The total of the Discount Received column which appear in Three Columns
Cash Book (Payments side) transfer to:
A. The Credit side of Discount Received account
B The Debit side of Debtors account
C. The Debit side of Discount Received account
D The Debit side of Discount Allowed account



13. To umoéAoitro Tou Aoyapiacpou MNMpoBAiyelg yia ATTWAEIEG ATTO XPEWOTEG TNV
1.1.2006 nATav £ 3.000 kai TO UTTOAOITTO TOU AoyaplaopoU XpPEWOTESG ThV
31. 12. 2006 ATav £82.000 oto otroio mepIAauBaveral rood £2.000, To oTroio
mwpémel va diaypagei oav AmwAsia amd Xpsworteg. Av n lMpoBAsyn yia
AtTwAeieg ammd XpewoTeg uTtroAoyifetal cav éva TToocooTd 5% e€mi TOU
UTTOAOITTOU TWV XPEWOTWV OTO TEAOG TOU OIKOVOMIKOU £TOUG, TTolo Ba gival To
utréAoitro Tou Aoyaplaopou MNpoBAéyweig yia ATTwAeieg atrd XpewoTteg Tnv 1. 1.
2007.

A. £4.000
B. £1.000
. £4.100
A, £7.100

13.The balance of Provision for Bad Debts account the beginning of the financial
year started at 1.1.2006 was £3.000 and Debtors account balance on 31. 12. 2006
was £82.000 . The amount of Debtors includes an amount of £2.000, which must
be written off as Bad Debts. If the Provision for Bad Debts calculated as a
percentage of 5% on Debtors account balance at the end of the financial year
ended 31. 12. 2006, which of the following amounts is the new balance of
Provision for Bad Debts account on 1. 1. 2007?

A. £4.000
B. £1.000
C. £4.100
D. £7.100

14. Amé T1a o KATW OTOIXEia Vva €TTIAEEETE eKeiva TTOU B oag Bondriocouv va
UTTOAOYIOETE TO TO0O6 TOU AoyaplaopoU Ayopég TTou METAQEPONKE OTO
Aoyapiaopud EkpeTdAAeuong Eptropeupdrwy.

£
NwAnoeig 120.000
Metagopikd NMwAncewyv 500
TeAiké Aré0gpa Eptropeupdrwy 4.000
KéoTtog NMwAnBéviwyv Eptropeupdrwy 80.000
MikTé Képdog 40.000

To 11006 Tou AoyaplaopoU AyopEG TTOU JETAPEPBNKE 0TO Aoyapliacud EkpeTdAAeuong
Eptropeupatwy Arav:

A. £83.500
B £84.000
I £76.000
A Kavéva atré 1a 1o mavw



14. From the following information select those which help you to calculate the
amount of the Purchases account transferred to the Trading account.

£
Net Sales during the year 120.000
Carriage Outwards 500
Closing Stock of Goods 4.000
Cost of Sales 80.000
Gross Profit 40.000

The amount of Purchases account transferred to Trading account was:

A. £83.500
B. £84.000
C. £76.000
D. Kavéva atro 1a 1o mavw

15. To kéoTOG ayopdg &vog Avutokivitou tnv 1. 1. 2004 Atav £20.000.
Xpnoipyotroiwvrag T1n XtaBepry péEBOdo amoéofeong (Apecog  TPOTTOG
apouciaong) Kal ME TTOOO0O0TO utroAoyiopoU Tng AmoéoBeong 10%, o
Aoyapiaopudg Autokivnra tnv 1. 1. 2007 Oa deixvel utréAoiTtro:

A. £20.000
B. £14.580
r. £16.000
A £14.000

15. On 1 January 2004 a firm purchased a new Motor Car by cheque. The cost of
Motor Car was £20.000. Using the Straight Line Method of Depreciation
(DIRECT WAY), show the Motor Car’s account balance on 1. 1. 2007.

A. £20.000
B. £14.580
C. £16.000
D £14.000



16. To kbéoTOG ayopdg e&vog Mnxaviuparog tnv 1. 1. 2005 Arav £100.000.
Xpnoipotroiwvrag 1N POivouca péBodo amoéoBeong (Eppecog TpOTTOG
Tapouciaong) Kal ME TTOOO0O0TO uTtroAoyiopoU Tng AmoéoBeong 20%, o
Aoyapiaopdg Mnxavipara tTnv 1. 1. 2007 Ba deixvel utrdéAoitro:

A.

B
r.
A

£ 80.000
£100.000
£ 64.000
£ 51.200

16. On 1 January 2005, a firm purchased new Machinery on credit. The cost of
Machinery was £100.000. Using the Diminishing Balance Method of
Depreciation (INDIRECT WAY) and applying 20%, show the Machinery’s account
balance on 1. 1. 2007.

A.

B
C.
D

£ 80.000
£100.000
£ 64.000
£ 51.200

17. KepdAaio Kivnong givail n dia@opd TTou TTPOKUTITEI AV:

B 0w

A1 10 EvepynTiko agaipéooupue 1o MadnTikd
AT16 10 KukAogopiakd EvepynTikd agaipécoupue 1o BpaxutrpdBeapo Madntikd
AT116 10 Mayio EvepynTikd agaipéooupe To KukAogoplakd EvepynTikd

AT1T6 10 KegpdAaio agaipéooupe To MakpotrpdBeouo Mabntikd

17. Working Capital is the difference arising:

OO0 w>

From Assets minus the Liabilities

From Current Assets minus the Short Term Liabilities
From Fixed Assets minus the Current Assets

From Capital minus the Long Term Liabilities



18.Amé TIG TAnpo@opieg TTou didovTtal O KATW Kal agopouv Tn AoyIoTIKNA
mwepiodo mou €Ange Tnv 31. 12. 2006, eIAéSeTe eKeiveg TTOU B oag BonBrjocouv
va utroAoyioeTe To utTTOAOITTO TOU Aoyaplacuou XpewoTeg Tnv 31. 12.2006.

£

YtréAoitro Tou Aoyapiacpuou XpewoTeg Tnv 1. 1. 2006 8.000
2uvaAAayég 1. 1. 2006 - 31. 12. 2006

Eiompdageig amd Alaypageioeg ATTaITACEIG 4.000
NMwARoeig pe MiocTwon 80.000
NwARoeig Toig MeTpnToig 40.000
ExtTrTwoeig XopnyouUupeveg 3.000
Eiorpdageig amd XpewoTeg 65.000
EmioTpo@ég NMwAnoewyv amd XpewoTeg 7.000

To utréAoiTTo Tou Aoyapiaopou XpewoTeg TNV 31. 12. 2006 ATav:

A. £53.000
B £ 9.000
r. £49.000
A £13.000

18. From the information given below relating to the Accounting period ended
31. 12. 2006, select those which help you to calculate the balance of the
Debtors account on 31. 12. 2006.

£

Balance of Debtors account on 1. 1. 2006 8.000
Transactions 1. 1. 2006 — 31. 12. 2006

Bad Debts Recovered 4.000
Sales on Credit 80.000
Cash Sales 40.000
Discount Allowed 3.000
Cash received from Debtors 65.000
Sales Return from Debtors 7.000

The Balance of Debtors account on 31. 12. 2006 was:

A. £53.000
B. £ 9.000
C. £49.000
D. £13.000
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19.Aé TIG TTAnpo@opieg TTou didovral TIOo KATW Kal agopouv Tn AoyYIOTIKNA
mwepiodo Tou €Ange Tnv 31. 12. 2006, eTIAESeTE eKeiveg TTOU B oag BonBrjocouv
va utroAoyioete To utréAOoITTO TOU Aoyapiacuou MoTwTég Tnv 31. 12.2006.

YtréAoitro Tou Aoyapiacpou MotwTtég Tnv 1. 1. 2006
ZuvaAAayég 1. 1. 2006 - 31. 12. 2006

Ayopég pe MioTwon

NMAnpwpég o€ MoTwTég

Exmrrwoeig Aaupavopeveg

Mpapparia EiomrpakTéa

£
10.000

50.000
48.000
4.000
5.000

To utréAoitro Tou Aoyapiacpou MoTwTtég TRV 31. 12. 2006 ATav:

A. £ 8.000
B £ 3.000
I £13.000
A Kavéva atré 1a 1o mavw

19. From the information given below relating to the Accounting period ended

31. 12. 2006, select those which help you to
the Creditors account on 31. 12. 2006.

Balance of Creditors account on 1. 1. 2006
Transactions 1. 1. 2006 — 31. 12. 2006
Purchases of Goods on Credit

Cash payments to Creditors

Discounts Received from Creditors

Bills Receivable

The Balance of Creditors account on 31. 12. 2006 was:

A. £ 8.000
B. £ 3.000
C. £13.000
D. None of the above

calculate the balance of

£
10.000

50.000
48.000
4.000
5.000

11



20.Tnv mpwTtn eBdopdada Asitoupyiag Tou MikpoU Tapegiou TTou §eKivnoe pe ZT1aBepd
Mood £50, o Mikp6g Tapiag diatioTwoe 0TI TO TTOOO AUTO fTaV Aiyo Kal {ATnoE
va augnOei og £100. -. To aitnud Tou €yive 8ekTd. O Mikp6g Tapiag TTapédwoe
TIG ATrOdEIEIG MIKPOTTANPWHWYV TTOU £éKave agiag £48. — oto MNevikd Tapia kal Tou
{ATNOE VA TO AVOVEWOEI CUNPWVA HE TO VEO 2TaBePS Moo b Tou eyKpiONKE.

Néoa Ba Tou dwoel o Nevikég Tapiag;

A. £100
B £ 98
r. £ 48
A £148

20. The Petty Cashier starts with an Imprest amount of £50. After the first week, he
realises that this amount is too small and demands from the General Cashier to
increase the Imprest amount to £100. His demand is accepted by the General
Cashier. The Petty Cashier presents payment vouchers which amount to £48.
The General Cashier restored the Imprest amount according to the new
agreement.

The amount of restoration was:

A. £100
B £ 98
C. £ 48
D £148

21. Xto BiAio NwARoewVv KatawpouvTtal ol cuvaAAay£ég TTOU a@OopouUV:

MwAAoceig Eptropeupdtwy To1g MeTpnTOoig
MwAAoeig MNayiwyv MNepiouociakwy OTOIXEIWV PE TTIOTWOoN
MwAAoeig Eptropeupdtwy pe TioTwon

> 0w >

Emotpogéc NMwARocwyv attd XpewaoTeg

21. Transactions recorded in the Sales Day Book are:
A.  Sales of Goods for Cash
B. Sales of Fixed Assets on Credit
C. Sales of Goods on Credit
D Sales Return from Debtors

12



22. Mola a1rd TIg TIo KATW ocuvaAAayég Ba kataxwpnBei oto BifAio Ayopwv;

A
B.
r

A

Ayopég EputropeupdTwy Pe YETPNTA YIA TTPOCWTTIKR XPron Tou Emxeipnuaria
Ayopég Mayiwy TTEPIOUCIOKWY OTOIXEIWV PE TTIOTWON
Ayopég Eptropeupdtwy Pe HETPNTA YIA JETATTWANOCN

Ayopég EuTropeupdTwy Pe TTioTwon yia JETOTTWANCN

22. Which one of the following transactions is recorded in the Purchases Day

Book?

A. Purchases of Goods for Cash for personal use of proprietor.
B. Purchases of Fixed Assets on Credit.

C. Purchases of Goods for Cash for resale.

D. Purchases of Goods on Credit for resale.

23. H owoTn amrdvrnon yia 1o Xeipioud Tng Eptropikng ‘Ekrrwong givai:

A.

H Epmopiky ‘EkmTwon  kataxweeitar  ota  AoyioTikd  BiBAia  kar  dgv
TTAPOUCIAETAI OTO TINOAOYIO

H Eutopikr) ‘EkTTTwon mmapouciddetal oTo TIHOAOYIO Kal OV KATAXWPEITAI OTA
NoyI1oTIKA BiIBAia

H Eptropikn ‘EKTITwOonN yiveTal TNV wpa TG E60QANONGS €vOG Aoyapliaouou A
TIuOAOYiOU.

H EpTtropikr ‘EKTITwOoN 8¢ @aiveTal oUTe OTO TIMOAOYIO OUTE TTOUBEVA OAAOU

23. The correct answer for handling the Trade Discount is:

A.

The Trade Discount is recorded in the Accounting Books but does not appear
on the Invoice.
The Trade Discount appears on the Invoice but is not entered in Accounting

Books.
The Trade Discount Allowed is made at the time of settlement of an account or

an Invoice.
The Trade Discount appears neither on Invoice nor in the Accounting Books.
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24. H KaBapn TigyoAoyiokn adia &€vog AUTOKIVATOU HETA TnVv a@aipeon 20%
Eptropikng ‘Exkmrtwong kai mwpiv TV €mBoAl 15% @. I1. A., Atav £10.000. Moia
ATAV N TIA TIMOKATAAGYOU;

A.

B
r.
A

£12.500
£ 8.000
£11.500
£13.800

24. The net Invoice price of a Motor Car after the deduction of a 20% Trade
Discount and before the addition of 15% V.A.T., was £10.000.

The Catalogue Price of Motor Car was:

A.

B.
C.
D

£12.500
£8.000

£11.500
£13.800

25. Z10 Nevikd KaBoAiko Bpiokoupe:

A
B.
r

A

OAoug Toug MNMPOCWTTIKOUG AOYAPIACUOUG TV XPEWOTWV
OAoug Toug MpoowTTIKOUG Aoyaplaopoug Twy MoTwTwv
OAa 1a BonBnrtikd BipAia i BiBAia Apxikig Eyypa®nig

OMAoug TOoUG Aoyapiaopoug Tng Emmixeipnong ek1é6¢ ammd Toug poowtTikoug
Aoyapiaopoug Twv XpewaoTwv Kal MoTwTwv.

25. In the General Ledger you can find:

OO0 we>

All the personal accounts of the Debtors

All the personal accounts of the Creditors

All the Subsidiary Books or Books of Prime Entry

All the Business accounts other than the personal accounts of Debtors and

Creditors
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26. A business borrowed £1700 from its bank and used the cash to buy a new
computer. How is the accounting equation affected by these transactions?

Assets Liabilities
A. unchanged decreased
B. unchanged increased
C. increased increased
D. increased decreased

26.Mia emixeipnon daveiotnke £1700 amd tnv Tpamweda TNG KAl XPNOIYOTTOIiNOE TA
METPNTA YIO TNV AYOPd £VOG KAIVOUPYIOU NAEKTPOVIKOU UTTOAOYIOTH.
NMwg ernpedaderal n AoyioTIKA £§iocwon atmd TIg ouvaAAayEég AUTEG;

EvepynTiko MadnTikd
A. ApeTapAnTO Melwbnke
B. ApeTaBANTO Auénonke
r. Augnonke Augnonke
A. Auénonke MeiwBnke

27. Tania’s year end trial balance includes the following balances:

£
Opening stock 12964
Trade Debtors 43728
Bank Overdraft 5872
Trade Creditors 28627

Tania’s closing stock is valued at £11625.

Based on the above figures, what is the value of Tania’s current assets?

A. £33818
B. £55353
C. £56692
D. £61225
27. To 1eAIk6 100Q0yI0 TOU Tania repIAauBAvel Ta IO KATW UTTOAOITTA:
£
Apxiké ATTéBeua 12964
Eptropikoi XpewoTeg 43728
MapatpdBnyua Tpdtredag 5872
Eptropikoi MoTtwTtég 28627

To 1eAIKG uttéAoITTo Tou Tania atroTiydral og £11625.

Baoi(6uevol ota 1o TTAvw OToIXEia, Trola gival n agia Tou PpaxutrpdBecuou
EVEPYNTIKOU TOU Tania;
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A.
B.
r

A

£33818
£55353
£56692
£61225

28.Steve is preparing his accounts for the year to 31 May 2004. On 1 July 2003 he
paid £22644 to rent a store for eighteen months from that date. What adjustment is

required?
A. a prepayment of £8806
B. an accrual of £8806
C. a prepayment of £13209
D. an accrual of £13209

28. O Steve groipadel Toug Aoyaplacpoug Tou yia 1o €Tog TTou ARyel 31 Madiou 2004.
Tnv 1" louAiou 2003 TTARPpwoe £22644 yia va £VOIKIAOEl Yo aTToOAKN yia 18 YAVES
a1Té TNV NUEPOUNVIA AUTH.

Mola TakTOoTrOoIiNON ATTAITEITAI;

A.
B.
r.
A.

Mia TTpoTTAnpwun atréd £8806

MIa o@eINdpevn TTAnpwunA atrd £8806
Mia TTpoTTAnpwun atrd £13209

MIa o@eIAdpevn TTAnpwun atrd £13209

29.At the beginning of the year a business had net assets of £89548. During the year,
the owner withdrew £17500. At the end of the year, the net assets had a value of

£95574.

What was the net profit for the year?

A.
B.
C.
D.

£6026

£11474
£17500
£23526

29. ZTnVv apxn Tou £€TOUG MIa ETTIXEIPNON €iXe KaBapn replouoia £89548. Kara tnv
d1dpkela Tou £Toug, 0 1810KTATNG atrécupe £17500. ZTo TEAOG TOU £TOUG, N KABApPN
TEPIoUTia eixe agia £95574. lMoio ATav To KABAPS KEPOOG TNG XPOVIAG;

A.
B.
r.
A.

£6026

£11474
£17500
£23526

30.Ronaldo buys goods from Alfredo on 60-day credit terms. Alternatively, a 10%
cash discount is available on any payment received within 10 days.
During February the following transactions took place:

Feb. 2 Ronaldo buys £800 of goods
Feb. 11 Ronaldo pays Alfredo a cheque for £360
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What is the balance of Ronaldo’s account in Alfredo’s sales ledger at 28 February?

A. £360
B. £400
C. £440
D. £485

30. O Ronaldo ayopddel epmropeupara amd tov Alfredo pe 6pio ioTwong 60 nuepwv.
EvaAAakTIKd, 10% TAMIOKER EKTTTWON TTOPEXETAI YIA KAOE TTANPWHNA TTOU YiVETAI EVTOG
TWV TPWTWV 10 nuepwv. Katd tn didpkeia PeBpouapiou TTpayuaroroindnkav ol mio
KATW ouvaAAayég.

Pepp. 2 O Ronaldo ayopddel eptropevpata £800
®eBp. 11 O Ronaldo kataBdaAAel atov Alfredo emitayr) £360

Molo Ba cival 1o uttéAoITTo Tou Aoyaplacpou Tou Ronaldo oto KaBoAiko XpewoTwv
Tou Alfredo tnv 28" deBpouapiou;

A. £360
B. £400
r. £440
A. £485

** KAAHN EMITYXIA ***
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